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Ready, Set, Go!

Ready
)*+,'-1./,012#0,"13&AI5#*2#0/," (#SYo# & #(

For each set of sequences, find the first five terms. Compare arithmetic sequences and

> 1?7, @?'AAA:B6#$8*:$01C=,0+0'C'+.+#$,.’

geometric sequences. Which grows faster? When?

67!

B!

cn

1,012#0," (#$%#&'#-!f (1) = 2!common difference, d = 3!
8#*2#0/, '(#$%#&# 'g(l) = 2,commonlratio!r ! 3!

/,012#0,'- |
F() N
£(2) =!I
£(3) =N
1 (4) =N

F(5) 11
|

91,'1 1:3; %#!4*1<*%!101,&=!>,;;

8#*2#0],'- |

g ! !
1(2) =!

g(@3) =!

g ! !
g(5) =!

12#12*[#@L00) or g(100)AI91<A

J,012#0,"1(#5%#&'#-!! (1) = 2,!"##"$  difference,! = 10!
8#*2#0/,'|(#$%#&'#-!! (1) = 2!common ratio!! ! 3!

1,012#0,'- |
IF (1) =M
1)1
(1) =N
1 (4) =N

1 (5) =!I
|

91,'1 1:3;%#!4*1<*%101,&=!>,;;

8#+2#01,'- |

NOEL ! !
g(2) =!

L) =

1 (4)1 1 ! !
g(5) =!

[2#12*/H@™ )" I ("™ HAI9L<A

1,01240, \(#$%#&#-1£(1) | 201d ! 10!
84240, '(#$%#&# 'g(' )=12,1 =2

1,012#0,'- |
IF(1) =M
NOIRL
NOIRL
NOIRL
!(!)!!!

91* 191,'11:3;%#14*1<*%!01,&=!>;

8#+2#0,'- |

NOIR! ! !
YOI

NI

NOIR! ! !
YOI
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D7 ./,012#0,""(#$%#&#-f (1) ! 1" ,common dif ference!d ! 10!
8#*2#0/,' | (#P%#&'#-1g(1 ) ! 1II"##"$  Iratio,! =!!

J,012#0,- | 1 ! ! 8#+2#0,'- |
IF(1) =N ! ! ! g ! ! ! !
! f2) ! ! ! ROIR
FOHym ! ! ! YOI
(1) =N ! ! ! g1 ! ! ! !
! ! ! O

! IR
|

9 191*191,'11:3;%#14*1<*%101,&=!>,;;1?#12*/#@F (" ) or!! 1" )AI91<A
!
!

!
E7 F*2+3/#!3/,012#0, | (#$%#&'#(13&4!15#*2#0/,"|(#$%#&#(15/*>01!/30#(7!191,'115/*>(! G3(0#/A!
91#&Al

Set
Y+, - 18#* 240/ | (HS%H& #( |

Each of the tables below represents a geometric sequence. Find the missing terms in the
sequence, showing your method.

6. Table 1
X 6! B! a
y a ! 6B!
!
7. Table 2 8. Table 3 9. Table 4
! ! ! !
X y X Yy X| 4
6l B | | 6! E 6 D
B! ! B! ! B :
a T a BH d :
D ED D ! D :
| E! CBD
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!
Go
)*+,'-1 1J+;,,01#$%30,*&(1*G!5#*2#0/,"1#$%30,*&(

Given the following information, determine the explicit equation for each geometric

sequence.

BH7TIN(L) | L LIBA"S  I"H$9B 1 | 1]
!

[

6E7TN(I) L 1IN ()T Iy 1

6B7U(I) L LI (L )N
!
[

6CAL, 115#*2#0/,'| (#$%#&'#13?2*:#113(101#!5/#30#(0!:3;%#!301(!"" )IA ! ! !
!

|
K##AIL#,+AIF1#'=1*900101#(#!: 4#4(-

8#*2#0/,'l(#$%#& #!11100+-MM>>>7=13&3'34#2<7*/5M2301M3;5#?/3MSEB 2/ M6 M: M5#*2#0/, N#$%o#& #NM&0/*4%'0,*&
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